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Tnpsc group I / ii preliminary  
MONTHLY TEST September  

BATCH V & KAMARAJAR BATCH 
 
1. Which one of the minerals is widely used in dying and printing? 

a. Nickel   b. Zinc   c. Lead nitrate  
d. Manganese  e. Answer not known 
gpd;tUtdtw;Ws; ve;jf; fdpkk; rhaNkw;Wjy; kw;Wk; mr;rpLjypy; 
gutyhfg; gad;gLfpwJ? 
a. epf;fy;   b. Jj;jehfk;  c. <ak; iel;Nul; 
d. khq;fdPR  e. tpil njhpatpy;iy 
 

2. The first athlete to win BBC Indian sportswoman of the year twice in a 
row, 
a. Mirabai Chanu  b. Sakshi Malik  c. Lovlina Borgohain 
d. P.V. Sindhu   e. Answer not known 
njhlh;r;rpahf ,uz;L Mz;Lfs; gpgprp ,e;jpa tpisahl;L tPuhq;fid 
tpUij ntd;w Kjy; tPuhq;fid> 
a. kPuhgha; rhD  b. rhf;~p khypf; c. yt;ypdh Nghh;Nfhn`a;d; 
d. gp.tp. rpe;J  e. tpil njhpatpy;iy 
 

3. _________ first stated that the properties of elements are a periodic 

function of atomic numbers. 

a. Rang   b. Werner    c. Mendeleev 

d. Mosley   e. Answer not known 
jdpkq;fspd; gz;Gfs; kw;Wk; nray;ghL mjd; mZ vz;izg; nghWj;J 
,Uf;Fk; vd Kjypy; $wpath;. 

a. Nuq;f;   b. nth;dh;    c. nkd;lyPt; 

d. Nkh];Ny  e. tpil njhpatpy;iy 
 

4. Anthracite is a _________ coal 
a. High quality   b. Medium quality  c. Low quality 
d.  Poor quality   e. Answer not known 
Me;j;uirl; vd;gJ xU ___________ epyf;fhpahFk; 
a. cah; ju   b. eLj;ju    c. Fiwe;j ju 
d. kpff; Fiwe;j ju  e. tpil njhpatpy;iy 
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5. The heaviest  naturally occurring element is 
a. Uranium   b. Iron  c. Aluminium  d. Silicon 
kpf fdkhf> ,aw;ifapy; fhzg;ngWk; jdpkk; 
a. ANudpak;     b. ,Uk;G   c. mYkpdpak;    d. rpypf;fhd; 
 

6. According to Modern Atomic Theory which of the following statement is 
wrong? 
a. Atom is the smallest particle that takes part in a reaction 
b. Atoms are indivisible 
c. Atoms of the same element may not be similar in all their properties 
d. Atoms of different elements may be similar in some of their properties 
etPd mZf; nfhs;ifiag; nghWj;jtiu gpd;tUk; vf;$w;W jtwhdJ? 
a. mZ vd;gJ Ntjptpidapy; <LgLk; kpfr;rpwpa Jfs; 
b. mZf;fs; gpsf;f ,ayhjit 
c. xU jdpkj;jpd; midj;J mZf;fSk; midj;Jg; gz;GfspYk; 

xj;jpUf;f Ntz;bjpy;iy. 
d. ntt;NtW jdpkq;fspd; mZf;fs; rpy gz;Gfspy; xj;jpUf;Fk; 
 

7. What is the value of the Bohr radius of the electron in the ground state of 
hydrogen? 
a. 1.53 Aº  b. 0.35 Aº  c. 0.53 Aº   d. 3.15 Aº 
jiukl;l i`l;u[d; mZtpYs;s vyf;l;uhdpd; Nghh; Muj;jpd; kjpg;G 
vd;d? 
a. 1.53 Aº  b. 0.35 Aº  c. 0.53 Aº   d. 3.15 Aº 
 

8. What is the chemical name of sand? 
a. Sodium chloride     b. Nitric oxide 
c. Silicon dioxide     d. Sodium oxide 
kzypd; Ntjpapay; ngah; vd;d? 
a. Nrhbak; FNshiuL    b.iel;hpf; Mf;i]L 
c. rpypf;fhd; il Mf;i]L   d.Nrhbak; Mf;i]L  
 

9. Identify the correct statements. 
1. India is ranked 13th on the Global Terrorism index. 
2. Iraq is the country most impacted by terrorism. 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf. 
1. cyfshtpa gaq;futhjf; FwpaPl;by; ,e;jpah 13tJ ,lj;jpy; cs;sJ. 
2. gaq;futhjj;jhy; mjpfk; ghjpf;fg;gl;l ehlhf <uhf; cs;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    
c. 1 kw;Wk; 2 ,uz;Lk; d. 1 kw;Wk; 2 ,uz;Lky;y  
e. tpil njhpatpy;iy 
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10. India’s rank in Electoral Democracy Index 2023,  
a. 167 b. 108  c. 13  d. 144 e. Answer not known 
Njh;jy; [dehaf FwpaPL 2023 juthpirapy; ,e;jpahtpd; ,lk;> 
a. 167 b. 108  c. 13  d. 144 e. tpil njhpatpy;iy 
 

11. Octane Number is zero for  
a. n-Heptane   b. Isooctane   c. n-Hexane 
d. Isoheptane   d. Answer not known 
gpd;tUtdtw;Ws; vJ Mf;Nld; vz; G+[;[pak; Mf cs;sJ? 
a. n-n`g;Nld;   b. INrhMf;Nld;  c. n-n`f;Nrd; 
d. INrhn`g;Nld;  e. tpil njupatpy;iy 
 

12. Arrange the following states in ascending order based on their literacy 
rate. 
1. Bihar   2. Kerala   3. Arunachal Pradesh 
4. Mizoram  5. Tamil Nadu 
a. 1 – 5 – 3 – 4 – 2  b. 1 – 4 – 3 – 5 – 2  c. 1 – 3 – 5 – 4 – 2 
d. 1 – 3 – 4 – 2 – 5  e. Answer not known 
gpd;tUk; khepyq;fis mtw;wpd; vOj;jwpT tpfpjj;ijg; nghWj;J 
VWthpirg;gLj;Jf. 
1. gPfhh;   2. Nfush  3. mUzhr;ry gpuNjrk; 
4. kpNrhuk;   5. jkpo;ehL 
a. 1 – 5 – 3 – 4 – 2  b. 1 – 4 – 3 – 5 – 2  c. 1 – 3 – 5 – 4 – 2 
d. 1 – 3 – 4 – 2 – 5  e. tpil njhpatpy;iy 
 

13. In which animal the polytene chromosomes were discovered for the first 
time? 
a. Fruit fly   b. Drosophila   c. Chironomous 
d. Housefly  e. Answer not known 
ve;j caphpdj;jpy; Kjd; Kjypy; ghypBd; FNuhNkhNrhk;fs; 
fz;lwpag;gl;lJ? 
a. goG+r;rp   b. bNuhNrhigyh  c. ifNuhdhk]; 
d. <    e. tpil njhpatpy;iy 
 

14. The enzyme involved in unwinding of DNA is 
a. Telomerase   b. Helicase   c. Polymerase 
d. Ligase    e. Answer not known 
DNA it ,uz;L ,iofshf gphpg;gjpy; <LgLk; nehjp ahJ? 
a. nlNyhkNu];   b. n`ypNf];   c. ghypnkNu]; 
d. ypNf];    e. tpil njhpatpy;iy 
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15. A single pair of genes produces two or more character is known as  
a. Pleiostrogenes   b. Plasmogenes    
c. Pleiotropism    d. Multiple genes   
e. Answer not known 
xw;iw N[hb kugZf;fs; ,uz;L my;yJ ,uz;Lf;F Nkw;gl;l 
Fzhjpraq;fis cUthf;Fjy; ______________ vd;W miof;fg;gLfpwJ. 
a. gpsp];Nlh kugZf;fs;  b. gpsh];Nkh kugZf;fs;   
c. gpspNahbNuhgprk;   d. gy kugZf;fs;   
e. tpil njhpatpy;iy 
 

16. The principal function of centromere is 
A. Chromosome splitting B. Formation of spindle fibres 
C. DNA duplication  D. Movement of chromosomes to poles 
nrd;l;Nuhkpahpd; Kjd;ikg; gzpahdJ 
A. FNuhNkhNrhk; gpsTWjy; 
B. fjph;f;Nfhy; ,iofs; cUthf;fk; 
C. b.vd;.V. ,ul;bg;ghjy; 
D. FNuhNkhNrhk;fs; JUtq;fSf;F efh;jy; 
 

17. Functional unit of a gene is called as  
a. Cistron   b. Recon   c. Muton  d. Codon 
[Pdpd; mikg;G myF vd;gJ 
a. rp];l;uhd;  b. hPf;fhd;  c. kpa+l;lhd;  d. Nfhlhd; 
 

18. Most of the Blood in the human adult is formed in  
a. Heart  b. Spleen  c. Bone marrow  d. Kidney 
tsh;r;rpaile;j kdpjdpd; ngUk;ghyhd ,uj;jj;ij cUthf;FtJ 
a.,jak;    b. kz;zPuy;   c. vYk;G kQ;ir  d. rpWePufk; 
 

19. Statement 1 : When blood comes out of the blood vessel haemostasis 
occurs. 
Statement 2 : Thrombin converts fibrinogen into fibrin. 
Statement 3 : Occurrence of blood clot with in the blood vessel is known 
as Thrombosis. 
Statement 4 : Heparin present in Basophils inhibit blood clotting. 
a. 1 wrong, 2 correct, 3 wrong, 4 correct 
b. 1 correct, 2 correct, 3 wrong, 4 wrong 
c. 1 wrong, 2 wrong, 3 correct, 4 correct 
d. 1 correct, 2 correct, 3 correct, 4 correct 
$w;W 1 : fhak; Vw;gl;L ,uj;jk; ntspg;gLk;NghJ P̀Nkh];lhrpy; 
Njhd;WfpwJ. 
$w;W 2 : JNuhk;gpd;/iggphpNdh[id /iggphpdhf khw;Wfpd;wJ. 
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$w;W 3 : ,uj;jf; FohapDs; ,uj;jk; ciwjy; JNuhk;Nghrp]; vdg;gLk;. 
$w;W 4 : NgNrhgpy;fspy; cs;s `pg;ghhpd; ,uj;jk; ciwjiy 
jilnra;Ak;. 
Nkw;$wg;gl;l $w;Wfs; rhpahditah vd fz;lwp. 
a. 1 jtW> 2 rhp> 3 jtW> 4 rhp  
b. 1 rhp> 2 rhp> 3 jtW> 4 jtW 
c. 1 jtW> 2 jtW> 3 rhp> 4 rhp 
d. 1 rhp> 2 rhp> 3 rhp> 4 rhp 
 

20. The states that have made maximum progress towards clean electricity 
transition, 
a. Kerala and Tamil Nadu  b. Tamil Nadu and Maharashtra 
c. Rajasthan and Gujarat  d. Karnataka and Gujarat 
e. Answer not known 
gRikahd kpd; Mw;wy; khw;wj;jpy; mjpfgl;r Kd;Ndw;wk; mile;j 
khepyq;fs;> 
a. Nfush kw;Wk; jkpo;ehL  b. jkpo;ehL kw;Wk; kfhuh~;buh 
c. ,uh[];jhd; kw;Wk; F[uhj; d. fh;ehlfh kw;Wk; F[uhj; 
e. tpil njhpatpy;iy 
 

21. What is the life of Red blood corpuscles?   
a. 120days  b. 220 days   c. 400 days  d. 320 days 
,uj;jr; rptg;G mZf;fspd; tho;ehl;fs; vt;tsT? 
a. 120 ehl;fs; b. 220 ehl;fs;  c. 400 ehl;fs; d. 320 ehl;fs; 
 

22. Consider the following statements: 
Assertion (A) : Neutrophils belong to Granulocytic type. 
Reason (R) : Neutrophils contain no granules in their cytoplasm. 
a. Both A and R are correct 
b. Both A and R are wrong 
c. A is correct but R is wrong 
d. A is wrong but R is correct 
fPo;fz;l thf;fpaq;fis fUj;jpy; nfhs;f. 
$w;W (A): epa+l;Nuh/gpy;fs; Jfs; rhh;e;j ,uj;j nts;isaZf;fs; 
fhuzk(R) ;: epa+l;Nuh/gpy;fspy; irl;Nlhgpshr Jfs;fs; ,y;iy 
a. (A) kw;Wk; (R) rhp 
b. (A) kw;Wk; (R) jtW 
c. (A) rhp (R) jtW 
d. (A) jtW  (R) rhp 
 

23. Which of the following is the most essential element for the origin of life? 
a. Carbohydrates b. Proteins  c. Fats d. Nucleic acids 
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gpd;tUtdtw;Ws; caph;j;Njhd;wYf;F kpf ,d;wpaikahjJ vJ? 
a. khTg;nghUl;;fs;   b. Gujq;fs; 
c. nfhOg;Gg;nghUl;fs;   d. epa+f;spf; mkpyq;fs; 
 

24. Mangrove plants meet high osmotic pressure in the soil, they overcome 
the problem of water uptake by 
a. accumulation of electrolytes in the vacuole of the cell 
b. increase in the root and shoot ratio 
c. reduce the respiration rate 
d. reduce the respiration rate 
khq;F&t; jhtuq;fs; kz;zpYs;s mjpfg;gbahd M];khbf; mOj;jj;ij 
vjph; nfhs;fpd;wd.  ePh; cwpQ;Rjiy rhpnra;a mitfs;  
a. vyf;l;Nuhiyl;Lfis nry;ypd; fhw;W ntw;wplq;fspy; Ftpf;fpd;wd. 
b. Nth; kw;Wk; jz;L tpfpjj;ij mjpfhpf;fpd;wd.  
c. Rthr msit Fiwf;fpd;wd 
d. ePuhtpg; Nghf;fpd; msit Fiwf;fpd;wd. 
 

25. _________ do not take part in mitotic division 
a. Hetero chromatin    b. Euchromatin 
c. Nucleosome     d. Lamp brush chromosome  
_________ ikl;lhrp]; nry; gphpjypy; gq;F ngWtjpy;iy. 
a. n`l;bNuh FNuhNkhl;bd;    b. a+FNuhNkhl;bd; 
c. epa+f;spNah Nrhk;      d. Nyk;g;gpu~; FNuhNkhNrhk;  
 

26. What is the value of 2 – 2 ÷ 2 × 2 (2 of 2 – 2 – 2 ÷ 2)? 
a. 0  b. 1  c. 2  d.4 
2 – 2 ÷ 2 × 2 (2 ,y; 2 – 2 – 2 ÷ 2)? -d; kjpg;G fhz;f 
a. 0  b. 1  c. 2  d.4 

 
27. 15% of 40 is 2 more than 25% of a number. The number is 

a. 16   b. 40  c. 55  d. 60 
40y; 15% vd;gJ Xh; vz;zpd; 25% tpl 2 mjpfk; vdpy; mt;ntz; 
a. 16   b. 40  c. 55  d. 60 

 

28. If the selling price of a LED TV is equal to 5

4
of its cost price, then find the 

gain / profit percentage. 
Xh; vy;.,.b (LED) njhiyf;fhl;rpapd; tpw;gid tpiy mjd; mlf;f 

tpiyiag; Nghd;W 5

4
klq;F vdpy;> ,yhgr; rjtPjk; fhz;f.  

a. 15%  b. 10%  c. 20%  d. 25% 
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29. I. Every rational number is a real numbers. 
II. Every real number is an irrational number. 
a. I is correct      b. II is correct 
c. both I and II are correct    d. both I and II are incorrect 
I. xt;nthU tpfpjKW vz;Zk; nka;naz;. 
II. xt;nthU nka;naz;Zk; tpfpjKwh vz;. 
a. I vd;gJ rhp    b. II vd;gJ rhp 
c. I kw;Wk; II ,uz;Lk; rhp  d. I kw;Wk; II ,uz;Lk; jtW 

 

30. 2
2

1y
y

+  is not – equal to  

2
2

1y
y

+  vd;gJ vjw;Fr; rkkpy;iy  

a. 
4

2

1y

y

+
 b. 

2

1
y

y

 
+ 

 
  c. y2 + y-2  d. 

2

1
2y

y

 
+ − 

 
 

 
31. Which of the following fact is incorrect about mitosis? 

a. It occurs only in body cells 
b. Mitosis has two divisions 
c. Maintenance of 2n chromosomes 
d. Two diploid cells are produced 
ikl;lhrp]; gw;wpa gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. cly; nry;fspy; kl;Lk; eilngWfpwJ 
b. ikl;lhrp]; ,U gFg;Gfisf; nfhz;lJ 
c. ‘2n’ FNuhNkhNrhk;fs; epiyepWj;jg;gLfpwJ 
d. ,U ,Ukanry;fs; Njhd;Wfpd;wd 
 

32. Which organelle of the following occurs only in plant cells? 
a. Peroxisome   b. Glyoxysome  
c. Desmosome  d. Ribosome 
jhtu nry;fspy; kl;Lk; ,Uf;Fk; Ez;ZWg;G vJ? 
a. nguhf;]pNrhk;  b. fpisahf;]pNrhk; 
c. nl];NkhNrhk;  d. iuNghNrhk; 
 

33. Indians who have won gold medal in the IBA Women’s Boxing World 
Championship 2023,  
1. Nitu Ghanghas   
2. Saweety Boora 
3. Nikhat Zareen 
4. Lovlina Borgohain 
a. 1 and 3 only   b. 2 and 4 only  c. 1, 2 and 4 only 
d. All the above  e. Answer not known 
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IgpV kfsph; Fj;Jr;rz;il cyf rhk;gpd;~pg; 2023 Nghl;bfspy; jq;fg; 
gjf;fk; ntd;w ,e;jpa Fj;Jr;rz;il tPuhq;fidfs;> 
1. epJ fq;fh]; 
2. rtPl;b G+uh 
3. epfhj; [hPd; 
4. Nyht;ypdh Nghh;Nfhi`d; 
a. 1 kw;Wk; 3 kl;Lk;  b. 2 kw;Wk; 4 kl;Lk;  
c. 1> 2 kw;Wk; 4 kl;Lk; d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 
 

34. The common name of Gymnothorax tamilnaduensis discovered by ICAR 
is, 
a. Nilgiri Marten    b. Madurai Skink   
c. Tamil Nadu Brown Moray Eel d. Nagapattinam Sea horse   
e. Answer not known 
ICAR – My; fz;Lgpbf;fg;gl;l [pk;NdhNjhuhf;]; jkpo;ehLnad;rp]; -d; 
nghJg;ngah;> 
a. ePyfphp fUk;ntUF    b. kJiu muiz 
c. jkpo;ehL gOg;G NkhNu tpyhq;F d. ehfg;gl;bdk; flw;Fjpiu 
e. tpil njhpatpy;iy  
 

35. Asia’s largest four – metre Liquid Mirror telescope was recently 
inaugurated in, 
a. Tamil Nadu   b. Uttarkhand   c. Sikkim 
d. Arunachal Pradesh e. Answer not known 
rkPgj;jpy; Mrpahtpd; kpfg;nghpa ehd;F kPl;lh; jput Mbj; njhiyNehf;fp 
jpwf;fg;gl;Ls;s ,lk;> 
a. jkpo;ehL   b. cj;jufhz;l;   c. rpf;fpk; 
d. mUzhr;ry gpuNjrk; e. tpil njhpatpy;iy 
 

36. Which telescope captured a magnetic field image around a black hole in 
M87 galaxy? 
a. Hubble telescope    b. Event horizon telescope  
c. Magellan telescope    d. Thirty-meter telescope 
e. Answer not known 
ve;j njhiyNehf;fp M87 tpz;kPd; kz;lyj;jpy; cs;s fUe;Jisiar; 
Rw;wpAs;s fhe;jg; Gyj;ij glk;gpbj;jJ? 
a. `g;gps; njhiyNehf;fp   b. epfo;T mbthd njhiyNehf;fp  
c. khnfy;yd; njhiyNehf;fp  d. Kg;gJ-kPl;lh; njhiyNehf;fp 
e. tpil njhpatpy;iy 
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37. Rapid collapsing of massive stars are generating very high heat then the 
wident explosion is called 
a. White Dwarf   b. Photon diffusion  c. Steller evolution 
d. Supernova explosion e. Answer not known 
vil mjpfkhd el;rj;jpuq;fs; tpiuthf NkhJk;NghJ mjpf ntg;gj;ijAk;> 
nghpa ntbg;igAk; cUthf;Ftij _____ vd miof;fyhk;. 
a. ntz; FWkPd;   b. Nghl;lhd; guty;   
c. ];nly;yh; ghpzhkk; d. #g;gh;Nehth ntbg;G   
e. tpil njhpatpy;iy 
 

38. Escape velocity is  
a. Constant for all planets      
b. Varying for planet to planet 
c. Smaller in inner planets than outer planets   
d. Applicable only in earth 
d. Answer not known 
tpLgL jpirNtfkhdJ 
a. midj;J Nfhs;fSf;Fk; epiyahdJ 
b. NfhSf;F Nfhs; khWgLk; 
c. cl;Gw Nfhs;fspy; ntspg;Gw Nfhs;fis tpl FiwT  
d. Gtpf;F kl;Lk; nghUe;Jk; 
e. tpil njupatpy;iy 
 

39. Among the following which planet takes maximum time for one 
revolution around the sun? 
a. Mars  b. Jupiter  c. Saturn  d. Uranus 
gpd;tUk; Nfhs;fspy; #hpaid Rw;wp tu ePz;l fhyk; vLj;Jf; nfhs;Sk; 
Nfhs; vJ? 
a. nrt;tha; b. tpahod;  c. rdp  d. ANud]; 
 

40. Match the planets with their escape velocities. 
A. Earth    1. 60 km/s 
B. Mercury   2. 11.2 km/s 
C. Jupiter    3. 2.5 km/s 
D. Moon    4. 4 km/s 
Nfhs;fis mtw;wpd; tpLgL Ntfj;Jld; xg;gpLf. 
A. Gtp    1. 60 km/s 
B. Gjd;    2. 11.2 km/s 
C. tpahod;   3. 2.5 km/s 
D. epyT    4. 4 km/s 
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 A B C D 
a. 1 3 2 4 
b. 2 4 1 3 
c. 4 2 3 1 
d. 3 1 4 2 
 

41. Identify the rightly matched newly discovered species with their common 
names 
1. Mimeusemia Ceylonica - Moray eels 
2. Cyrtopodion Vindhya - Naked – toed gecko 
3. Trichrysis poseidonia - Cuckoo wasp 
a. 1 and 2 only   b. 2 and 3 only  c. 1 and 3 only 
d. None of the above  e. Answer not known 
gpd;tUk; Gjpjhf fz;Lgpbf;fg;gl;l rpw;wpdq;fSld; rhpahf nghUe;jpAs;s 
nghJg;ngah;fisf; fz;lwpf. 
1. ikkpA+Nrkpah rpNyhdpfh - NkhNu tpyhq;F 
2. rph;NlhNghbad; tpe;jpah  - ntWk; fhy; - nff;Nfh 
3. bhpf;hprp]; NghrpNlhdpah  - fhf;fh Fstp 
a. 1 kw;Wk; 2 kl;Lk;     b. 2 kw;Wk; 3 kl;Lk;    
c. 1 kw;Wk; 3 kl;Lk;  d. Nkw;$wpa vJTkpy;iy    
e. tpil njhpatpy;iy 
 

42. __________ is a tough and thick white sheath that protects the inner parts 
of the eye. 
a. Sclera    b. Conjunctiva  c. Cornea 
d. Iris    e. Answer not known 
_________ vd;gJ cWjpahd> jbj;j ntz;zpw ciwahf mike;J 
fz;zpd; cs;ghfq;fisg; ghJfhf;fpd;wJ. 
a. ];f;nyuh    b. fz;[q;bth  c. fhh;dpah  
d. Ihp];    e. tpil njhpatpy;iy 
 

43. Identify the correct statements. 
1. NISAR is an Earth observation Satellite. 
2. NISAR refers to NASA – ISRO synthetic Aperture Radar. 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf. 
1. eprhh; vd;gJ xU Gtp fz;fhzpg;G nraw;iff;Nfhs; MFk;. 
2. eprhh; (NISAR) vd;gJ ehrh - ,];Nuh nraw;if Jis Nulhh; vd;gij 

Fwpf;fpwJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
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44. Einstein got the Nobel prize for  
a. Radioactivity   b. Polarisation  c. Relativity  
d. Photo-electric effect 
ve;j fz;Lgpbg;gjw;F Id;];Bd; Nehgy; ghpR ngw;whh;? 
a. fjphpaf;fk;    b.js tpisT    c. rhh;gpay;    
d. xsp kpd; tpisT 
 

45. A doctor Prescribe spectacles to a patient with a combination of a convex 
lens focal length 40 cm, and concave lens of focal length 25 cm, then the 
power spectacles will be 
a. – 6.5 D  b. 6.5 D  c. -1.5 D  d. -8.5 D 
xU fz; kUj;Jth; Nehahsp xUtUf;F 40 nr.kP Ftpaj; njhiyTs;s 
Ftpnyd;irAk; 25 nr.kP Ftpaj; njhiyTs;s Fopnyd;irAk; ,izj;J 
%f;F fz;zhb mzpa ghpe;Jiuf;fpwhh;.  me;j %f;F fz;zhbapd; jpwd; 
vd;d? 
a. – 6.5 D  b. 6.5 D  c. -1.5 D  d. -8.5 D 
 

46. The fossils of world’s first pollinators called “tillyardembiids” were 
discovered in, 
a. China   b. Egypt   c. Russia 
d. Germany  e. Answer not known 
cyfpd; Kjy; kfue;j Nrh;f;if G+r;rpahfpa “jpy;ah;nld;igl;];” -d; Gij 
gbkq;fs; fz;Lgpbf;fg;gl;l ,lk;> 
a. rPdh   b. vfpg;J   c. u~;ah 
d. n[h;nkdp  e. tpil njhpatpy;iy 
 

47. A convex lens of power 3 diopter and a concave lens of power 2 diopter 
combined together.  Then the equivalent power is  
a. Concave lens of 1 diopter   b. Convex lens of 1 diopter 
c. Concave lens of 5 diopter   d. Convex lens of 5 diopter 
e. Answer not known 
Ftp nyd;rpd; jpwd; 3 lahg;lh; kw;Wk; Fopnyd;rpd; jpwd; 2 lahg;lh; ,it 
,uz;Lk; ,izf;fg;gLfpwJ. mjDila jpwd; ,izj;j gpd;G vt;thW 
,Uf;Fk;? 
a. Fopnyd;rpd; jpwd; 1 lahg;lh; b. Ftpnyd;rpd; jpwd; 1 lahg;lh; 
c. Fopnyd;rpd; jpwd; 5 lahg;lh; d. Ftpnyd;rpd; jpwd; 5 lahg;lh; 
e. tpil njhpatpy;iy 
 

48. World water day is celebrated on, 
a. March 3   b. March 14   c. March 22 
d. March 31  e. Answer not known 
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cyf jz;zPh; jpdk; nfhz;lhlg;gLk; ehs;> 
a. khh;r; 3   b. khh;r; 14   c. khhh;r; 22 
d. khh;r; 31  e. tpil njhpatpy;iy 
 

49. Consider the following 
Assertion (A): March 23rd is observed as Shaheed Diwas. 
Reason (R): Bhagat Singh, Sukhdev and Rajguru were executed on 
March 23, 1932 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A). 
c. Both (A) and (R) are false 
d. (A) is true but (R) are false 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): khh;r; 23 jpahfpfs; jpdkhf mDrhpf;fg;gLfpwJ. 
fhuzk; (R): gfj;rpq;> Rf;Njt; kw;Wk; uh[;FU MfpNahh; khh;r; 23> 1932 
md;W J}f;fpyplg;gl;ldh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;F rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R)> (A) tpw;F rhpahd tpsf;fky;y 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) rhp Mdhy; (R) jtW 
e. tpil njhpatpy;iy 
 

50. Mohenjadaro is situated in the district of  
a. Punjab  b. Larkhana  c. Bavalpur  d. Gujarat  
e. Answer not known 
nkhfQ;rjhNuh ve;j khtl;lj;jpy; cs;sJ? 
a. gQ;rhg;  b. yh;f;fhdh  c. ghty;G+h;  d. F[uhj;  
e. tpil njhpatpy;iy 
 

51. Regarding the Indus Valley Civilization, consider the following statement. 
1. It was predominantly a secular civilization and the religious element 
did not dominate the scene. 
2. During the period, Cotton was used for manufacturing textiles in India. 
Which of the statements given above is/are correct?  
a.    (1) only   b. (2) only   c. Both (1) and (2)  
d. Neither (1) nor (2)  e. Answer not known 
rpe;J rkntsp ehfhpfk; gw;wpa fPo;f;fz;l $w;wpy; vJ rhpahd $w;W? 
Njh;T nra;f.  
1. ,J kjr;rhh;gw;w ehfhpfkhf fhzg;gl;lJ. NkYk; kjkhdJ xU NghJk; 

rKjhaj;ij Mf;fpukpf;ftpy;iy. 
2. ,f;fhyj;jpy; [Tsp cw;gj;jpapy; gUj;jp Kf;fpa gq;F tfpj;jJ.  
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a. (1) kl;Lk;    b. (2) kl;Lk;  c. (1) kw;Wk; (2) kl;Lk; 
d. (1) k; ,y;iy (2) k; ,y;iy  e. tpil njhpatpy;iy 
 

52. Match the following: 
Indus Sites    Excavated by 
A. Chanhu-Daro   1. Suraj Bhan 
B. Lothal     2. N. G. Majumdar 
C. Banavali    3. S. R. Rao 
D. Mitathal    4. Bisht  
nghUj;Jf: 
rpe;J rkntsp efuq;fs;  mfo;thuha;r;rpahsh; 
A. rd;`_-jhNuh    1. #u[; ghd; 
B. Nyhj;jy;    2. vd;.[p. k[_k;jhh; 
C. gdhtsp    3. v];.Mh;. uht; 
D. kpl;lhjy;    4. gp~;l; 

A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. tpil njhpatpy;iy 
 

53. Which one of the following was not cultivated by the Harappan people? 
a. Barley   b. Wheat    c. Cotton 
d. Sugarcane  c. Answer not known 
`ug;gd; kf;fshy; gaphplg;glhj gaph; vJ? 
a. ghh;yp   b. NfhJik   c. gQ;R 
d. fUk;G   e. tpil njhpatpy;iy 
 

54. Which site of the Indus Valley had no citadel? 
a. Chanhudaro   b. Lothal    c. Kalibangan 
d. Rangpur   e. Answer not known  
Nfhl;il ,y;yhj xNu rpe;J rkntsp efuk; vJ? 
a. rhd;FjhNuh   b. Nyhj;jy;   c. fypgq;fd; 
d. uq;G+h;    e. tpil njhpatpy;iy 
 

55. The Largest of all the Indus Valley cities is 
a. Mohenjo-Daro  b. Kot Diji  c. Lothal  d. Rupar 
rpe;Jntsp efuq;fspy; kpfg;nghpaJ 
a. nkhfQ;rjhNuh    b. Nfhl;b[p   c. Nyhj;jy;   d. &ghh; 
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56. 25% of 25% is 
a. 6.25  b. 0.625 c. 0.0625 d. 0.00625  
25% ,d; 25% vd;gJ 
a. 6.25  b. 0.625 c. 0.0625 d. 0.00625  

 
57. The price marked on a book is Rs. 450. The shopkeeper gives  

20% discount on it in a book exhibition. What is the Selling Price? 
a. ` 400  b. `360   c. ` 420  d. ` 375 
xU Gj;jfj;jpd; kPJ mjd; tpiy &.450 Fwpg;gplg;gl;Ls;sJ. xU Gj;jff; 
fz;fhl;rpapy; filf;fhuh; mg;Gj;jfj;jpd; kPJ 20% js;Sgb nfhLf;fpd;whh;. 
mg;Gj;jfj;jpd; tpw;gid tpiy vd;d? 
a. ` 400  b. `360   c. ` 420  d. ` 375 

 

58. Find the value of 41 21 19 9− + −  

a. 7   b. 5  c. 6  d. 9 

kjpg;Gf; fhz; 41 21 19 9− + −  

a. 7   b. 5  c. 6  d. 9 
 
59. When 60 is subtracted from 60% of a number to give 60, the number is  

a. 60   b. 100  c. 150  d. 200  
Xh; vz;zpd; 60% ypUe;J 60If; fopj;jhy; 60 fpilf;Fk; vdpy;, me;j vz; 
a. 60  b. 100 c. 150  d. 200    

 
60. There are 560 students in a school. Out of 560 students, 320 are boys. Find 

the percentage of girls in that school. 
xU tFg;gpy; 560 khzt> khztpfs; cs;sdh;. 560 Nghpy; 320 khzth;fs; 
vdpy; khztpfspd; rjtPjk;  
a. 41.83%  b. 42.24%  c. 57 1

7
%  d. 42.86%  

 

61. Renowned Carnatic vocalist who is chosen for Sangitha Kalanidhi award 
2023, 
a. Sangeetha Sivakumar b. Bombay Jayashri  c. T. M. Krishna 
d. Sudha Ragunathan  e. Answer not known 
2023 Mk; Mz;bw;fhd rq;fPj fyhepjp tpUJf;F Njh;e;njLf;fg;gl;Ls;s 
Gfo;ngw;w fh;ehlf ,irf;fiyQh;>  
a. rq;fPjh rptFkhh;  b. ghk;Ng n[a=  c. b.vk;. fpU~;zh 
d. Rjh uFehjd;  e. tpil njhpatpy;iy 
 

62. India’s digital payments market is projected to be more than $10 trillion 
by, 
a. 2025 b. 2030 c. 2026 d. 2028 e. Answer not known 
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,e;jpahtpd; b[pl;ly; gz ghpth;j;jid re;ij ____ f;Fs; 10 bhpy;ypad; 
lhyh;fSf;F tsUk; vd;W fzpf;fg;gl;Ls;sJ. 
a. 2025 b. 2030 c. 2026 d. 2028 e. tpil njhpatpy;iy 
 

63. Match the following 
A. Rig Veda   1. Sacrificial practices 
B. Yajur Veda   2. Hymns 
C. Sama Veda   3. Spells and Charms 
D. Atharva Veda  4. Chants and Melodies 
fPNo cs;stw;iw nghUj;Jf. 
A. hpf; Ntjk;   1. ahfk; nra;Kiw 
B. a[_h; Ntjk;   2. fPh;j;jidfs; 
C. rhk Ntjk;   3. khe;j;hPfk; 
D. mjh;t Ntjk;   4. ghly;fs; kw;Wk; nky;ypir 

A B C D  
a. 1 2 3 4  
b.  2 1 4 3  
c. 3 4 2 1   
d. 4 3 1 2 
e. Answer not known 
 

64. The first to swim from Gateway of India to Elephanta caves. 
a. Rizwana   b. Sajam Prakash  c. Geeta Rana 
d. Krishna Prakash  e. Answer not known 
Nfl;Nt Mg; ,e;jpahtpypUe;J vyp/ ngz;lh Fiff;F ePe;jpa Kjy; egh;> 
a. hp];thdh   b. r[d; gpufh~;  c. fPjh uhzh 
d. fpU~;zh gpufh~;  e. tpil njhpatpy;iy 
 

65. The term ‘Sangrahita” during Vedic period denotes 
a. Chief Revenue Collector  b. Forest Chief 
c. Treasurer    d. Chief Accountant 
Ntj fhyj;jpy; "rq;fpufpjh" vDk; nrhw;nwhlh; Fwpg;gJ 
a. Kjd;ik thp t#ypg;gth;  b. Kjd;ik tdj;Jiwah; 
c. fUT+yh;     d. Kjd;ik fzf;fhsh; 
 

66. In the upper Ganges valley and Indo Gangetic plain, Iron is first found in 
800 BC and its culture is associated with 
A. Painted Gray ware  B. Black polished ware 
C. Black and red ware  D. Ochre colored ware 



 

16 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

Nky; fq;if gs;sj;jhf;F kw;Wk; ,e;J – fq;if rkntspapy; 
Kjd;Kjyhf ,Uk;G 800 BC apy; fz;Lgpbf;fg;gl;lJ. ,e;j ,Uk;G 
fyhr;rhuk; fPo;fhZk; vNjhL rk;ge;jk; cilaJ. 
a. rhk;gy; tz;zth;zk; G+rpa ghz;lk; b. fUg;G ghz;lk; 
c. fUg;G kw;Wk; rptg;G epw ghz;lk;   d. gy tz;zk; G+rpa ghz;lk; 
 

67. What is the name of the main collections of Vedic bymns? 
a. Upanishads     b. Aranyakas 
c. Brahmanas     d. Samhitas 
Ntjg;ghly;fspd; Kf;fpaj; njhFg;Gfspd; ngah; vd;d? 
a. cgepljq;fs;     b. Muz;afq;fs;   
c. gpuhkzq;fs;      d.rq;fpijfs; 
 

68. Whose period was called the period of ‘Sutra Granthas’? 
a. Mauryas   b. Guptas    c. Chalukyas 
d. Cholas    e. Answer not known 
ahUila fhyk; ‘#j;jpu fpue;j fhyk;’ vd;W miof;fg;gLfpwJ? 
a. nkshpah;fs; fhyk;   b. Fg;jh;fspd; fhyk; 
c. rhSf;fpah;fspd; fhyk;  d. Nrhoh;fspd; fhyk;  
e. tpil njhpatpy;iy 
 

69. Name the terrestrial God of the Rig Veda from the following list 
a. Savithri  b. Prithvi  c. Indra  d. Aswins 
fPNo jug;gl;Ls;s gl;baypypUe;J hpf; Ntjj;jpy; Fwpg;gplg;gLk; xU epyk; 
rhh;e;j flTisf; Fwpg;gpLf. 

a. rhtpj;jphp b. gpUj;tp  c. ,e;jpud;  d. m];tpdpfs; 

70. Match the following  
A. National Vaccine Day   1. March 23 
B. National Safety Day   2. March 16 
C. World TB Day    3. March 24 
D. World Meteorological  Day  4. March 14 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. Njrpa jLg;G+rp jpdk;   1. khh;r; 23 
B. Njrpa ghJfhg;G jpdk;   2. khh;r; 16 
C. cyf fhrNeha; jpdk;   3. khh;r; 24 
D. cyf thdpiy jpdk;   4. khh;r; 4 
 A B C D 
a. 2 4 3 1 
b. 2 3 1 4 
c. 3 4 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
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71. In 1895, Shivaji Movement was started by 
a. Dadabhai Naoroji  b. Mahatma Gandhi  c. Bal Gangadhar Tilak 
d. Subash Chandra Bose e. Answer not known 
1895 Mk; Mz;L rpth[p ,af;fj;ij njhlq;fpath;  
a. jhjhgha; nesNuh[p b. kfhj;kh fhe;jp  c. ghy fq;fhju jpyfh; 
d. Rgh~; re;jpu Ngh];  e. tpil njhpatpy;iy  
 

72. Consider the following statements: 
i. The partition of Bengal in 1905 was the most striking example of the 

British divide and rule policy 
ii. In the Calcutta meeting 1905 Surendranath Banerjee gave a call for the 

boycott of British goods and institutions. 
iii. On 7th August 1905 at Town Hall meeting in Calcutta, a formal 

proclamation of Swadeshi movement was made  
Which of the statements given above is/are correct? 
a. i only    b. i and iii only  c. i and ii only 
d. i, ii and iii are correct e. Answer not known 
gpd;tUk; $w;Wf;fis fhz;f. 
i. 1905-,y; Nkw;nfhs;sg;gl;l tq;fg; gphptpid Mq;fpNyahpd; gphpj;jhSk; 

nfhs;iff;F kpfr; rpwe;j cjhuzkhFk;. 
ii. 1905-,y; eilngw;w nfhy;fj;jh $l;lj;jpy; RNue;jpuehj; ghdh;[p gphpl;b~; 

nghUl;fisAk; epWtdq;fisAk; Gwf;fzpf;f miog;GtpLj;jhh;. 
iii. 1905 Mf];l; 7-,y; nfhy;fj;jh efu muq;fpy; eilngw;w $l;lj;jpy; 

RNjrp ,af;fk; Fwpj;j Kiwahd mwptpg;G toq;fg;gl;lJ. 
a. i kl;Lk;     b. i kw;Wk; iii kl;Lk;  c. i kw;Wk; ii kl;Lk; 
d. i, ii kw;Wk; iii rhpahdJ e. tpil njhpatpy;iy 
 

73. Name the Indian leader is known as “Bismarck of India” for his services to 
India 
a. Gandhi    b. Nehru   c. Sardar Patel 
d. Rajendra Prasad  e. Answer not known 
“,e;jpahtpd; gp];khh;f” vd;W miof;fg;gl;l ,e;jpa jiyth; 
a. fhe;jp    b. NeU   c. rh;;jhh; gl;Nly;  
d. ,uhN[e;jpu gpurhj;  e. tpil njhpatpy;iy 
 

74. Who laid the foundation of Radhakrishna high school at Jagraon in 1914? 
a. Bipin Chandra Pal  b. Chittaranjan Das  c. Lala Lajpat Rai 
d. Sardar Vallabai Patel e. Answer not known 
1914 Mk; Mz;L [hf;Nuhdpy; cs;s uhjh fpU~;z cah;epiy gs;spia 
epWtpath; ahh;? 
a. gpgpd; re;jpughy; b. rpj;juQ;rd; jh];   c. yhyhy[gjp uha; 
d. rh;jhh; ty;ygha; gl;Nly;  e. tpil njhpatpy;iy 
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75. ______ was the uncle of Bhagat Singh who founded the “Revolutionary 
Bharat Mata Society”. 
a. Arjun Singh   b. Ajit Singh  c. Balbir Singh 
d. Kuldeep Singh  e. Answer not known 
―――――vd;gth; gfj;rpq;-d; khkh kw;Wk; mth; ghuj khjh fofk; vd;w 
mikg;ig Njhw;Wtpj;jtuhthh;. 
a. Mh;[_d; rpq;   b. m[pj; rpq;  c. gy;gPh; rpq;  
d. Fy;jPg; rpq;   e. tpil njhpatpy;iy 
 

76. Swadesi Steam Navigation company of V.O Chidambaram Pillai was 
started in the year 
a. 1905  b. 1906 c. 1907  d. 1908  
e. Answer not known 
t.c. rpjk;guk; gps;is RNjrp ePuhtpf; fg;gy; fofj;ij vg;NghJ 
njhlq;fpdhh;? 
a. 1905  b. 1906 c. 1907  d. 1908  
e. tpil njhpatpy;iy 
 

77. Who among the following National Leader resigned from civil service to 
join  in the freedom struggle? 
a. C.R. Das  b. Subash Chandra Bose  c. Motilal Nehru 
d. W.C. Banerjee e. Answer not known 
gpd;tUk; Njrpa jiyth;fspy; ,e;jpa Rje;jpug; Nghuhl;lj;jpy; fye;J 
nfhs;tjw;fhf jdJ Fbikg;gzpia tpl;L tpyfpath; ahh;?  
a. rp.Mh;.jh];  b. Rgh~; re;jpu Ngh];   c. Nkhjpyhy; NeU 
d. lgps;A+.rp.ghdh;[p e. tpil njhpatpy;iy 
 

78. The article 'Why I am an Atheist' written by 
a. Lala Lajpat Rai b. Bhagat Singh c. Bhagawati Charan Vohra 
d. Chandrashekhar Azad e. Answer not known 
‘ehd; Vd; ehj;jpfthjp” vd;Dk; fl;Liuia vOjpath; ahh;?  
a. yhyh y[gjp uha; b. gfj; rpq;  c. gftjp ruz; Nth`uh   
d. re;jpuNrfh; Mrhj;  e. tpil njhpatpy;iy 
 

79. Who presided over the Surat session of the Indian National Congress in 
1907? 
a. Gopalakrishna Gokhale    b. Dadabai Naoroji 
c. Rashbehari Ghosh    d. SN Banerji 
1907 k; Mz;L #uj;jpy; eilngw;w ,e;jpa Njrpa fhq;fpu]; $l;lj;jpw;F 
jiyik jhq;fpath; ahh;? 
a.NfhghyfpU~;z NfhfNy     b. jhjhgha; nesNuh[p 
c. uh~;gpfhhp  Nfh];     d. v];.vd;.Ngdh;[p  
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80. Who was the First Muslim President of the Indian National Congress? 
A. Muhammed Ali Jinnah  B. Badruddin Tyabji 
C. Sir Syed Ahmed Khan  D. Abdul Kalam Azad 
,e;jpa Njrpa fhq;fpu]pd; Kjy; K];yPk; jiyth; ahh;?  
A. KfkJ myp [pd;dh   B. gj;Ujpd; jahgp[p 
C. rh; iraJ mfkJ fhd;  D. mg;Jy; fyhk; Mrhj;  
 

81. Consider the following statements:  
Statement I : The anti-Indian policy of Lord Curzon was greatly 
responsible for the rise of extremists.  
Statement II : The partition of Bengal added fuel to fire to the rise of 
extremists.  
Which statement is/are correct?  
a. I only   b. Both I and II c. II only d. Neither I nor II 
fPo;f;fz;l thf;fpaq;fis ftdp:  
fUj;J I : fh;rd; gpuGtpd; ,e;jpahtpw;F vjpuhd nfhs;iffs;  
   jPtputhjpfspd; vOr;rpf;F fhuzkhapw;W.  
fUj;J II  : tq;fhsg; gphptpid vhpAk; jPapy; vz;nza; Cw;wpaJ  
   Nghy; Mapw;W.  
,tw;wpy; vJ / vit rhp?  
a. I kl;Lk;  b. I kw;Wk; II c. II kl;Lk; d. I-k; ,y;iy II-k; ,y;iy  
 

82. Who described Bal Gangadhar Tilak as the ‘Father of Indian Unrest’?  
a. Valentine Chirol   b. Disraeli  
c. Minto-II     d. Chelmsford 
ghyfq;fhju jpyfiu ‘,e;jpa mikjpapd;ikapd; je;ij’ vd;W 
tUzpj;jth; ahh;?  
a. Ntyd;ild; rpNuhy; b. b];Nuyp 
c. kpz;Nlh-II   d. nrk;];Nghh;L 
  

83. Match the following   
New Paper     Founder  
A. Kesari    1. Lala Lajpat Rai  
B. Mook Nayak   2. Annie Besant  
C. New India    3. B.G. Tilak  
D. Punjabi    4. Ambedkar  
fPo;fhz;gtw;iw nghUj;Jf  
gj;jphpf;if    njhlq;fpath;  
A. Nfrhp    1. yhyh y[gjp uha;  
B. %f;ehaf;   2. md;dp ngrd;l;  
C. epA+ ,e;jpah   3. B.G. jpyfh;  
D. gQ;rhgp    4. mk;Ngj;fh;  
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 A B C D 
a. 3 4 2 1  
b. 2 4 3 1  
c. 1 2 3 4 
d. 4 3 2 1  
 

84. Identify the correct statements from the following. 
1. Recently Keezhadi museum is inaugurated in Sivaganga district by 

Tamil Nadu government. 
2. Keezhadi civilisation is believed to be belonging to post-Sangam era. 
3. Keezhadi is a part of Porunai civilisation. 
a. 1 only    b. 1 and 3 only   c. 2 only 
d. All the above   e. Answer not known 
gpd;tUtdtw;Ws; rhpahd $w;Wfisf; fz;lwpf. 
1. rkPgj;jpy;> rptfq;if khtl;lj;jpy; jkpo;ehL muR fPob 
mUq;fhl;rpafj;ijj; jpwe;Js;sJ. 
2. fPob ehfhpfk; rq;fk; kUtpa fhyj;ijr; Nrh;e;jjhf ek;gg;gLfpwJ. 
3. fPobahdJ nghUie ehfhpfj;ijr; Nrh;e;jjhFk;. 
a. 1 kl;Lk;    b. 1 kw;Wk; 3 kl;Lk;   c. 2 kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy  
 

85. IIT – Madras is partnered with ___ for research in climate change 
mitigation and green transition. 
a. France    b. Denmark   c. Sweden 
d. UAE    e. Answer not known 
fhyepiy khw;w jzpg;G kw;Wk; gRik khw;wj;jpw;fhd Muha;r;rpf;fhf IIb 
– nrd;id ____ cld; $l;L Nrh;e;Js;sJ. 
a. gpuhd;];    b. nld;khh;f;   c. ];tPld; 
d. If;fpa muG mkPufk; e. tpil njhpatpy;iy 
 

86. In an examination, a student scores 3 marks for every correct answer and 
loses one mark for every wrong answer. If he answers 80 questions in all 
and gets 160 marks find the number of questions he answered wrongly? 
a. 20  b. 40  c. 60   d. 10    
xU Njh;th; xt;nthU rhpahd tpilf;Fk; 3 kjpg;ngz; ngWfpwhh;. jtwhd 
tpilaspj;jhy; 1 kjpg;ngz; ,of;fpwhh;. 80 tpdhf;fSf;F tpilaspj;j 
Njh;th; 160 kjpg;ngz; ngWfpwhh; vdpy; mth; jtwhf tpilaspj;j 
tpdhf;fspd; vz;zpf;if vd;d? 
a. 20  b. 40  c. 60   d. 10   

 
87. A table is sold for Rs. 414 at a profit of 15%. How much did it cost? 

a. Rs. 400   b.  Rs. 314   c.  Rs. 326   d. Rs. 360 
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&.414f;F tpw;fg;gLk; xU Nkirapd; ,yhgk; 15% vdpy; mjd; thq;fpa 
tpiy vd;d? 
a. Rs. 400   b.  Rs. 314   c. Rs. 326   d. Rs. 360 

 

88. If 
5

8
is subtracted from the sum of 

5

6
 & 

5

9
, the reminder is  

a. 
50

72
   b. 

45

72
   c. 

55

72
   d. 

40

72
 

5

6
kw;Wk; 

5

9
 d; $l;lypy; ,Ue;J 

5

8
 If; fopj;jhy; fpilf;Fk; kPjp  

a. 
50

72
   b. 

45

72
   c. 

55

72
   d. 

40

72
 

 
89. An alloy consists of 30% copper and 40% Zinc, and the remaining is 

nickel. find the amount of nickel in 20 kilograms of the alloy.  
xU cNyhf fyitapy; 30% fhg;gUk; 40% [pq;f;-k; cs;sJ. 
kPjKs;sit epf;fy; MFk;. 20 fpfp cNyhff;fyitapy; epf;fypd; vil 
vt;tsT?  
a. 8 kg  b. 12 kg  c. 14 kg  d. 6 kg  

 
90. If the price of a book is first decreased by 20% and then increased by 20% 

then the net change in the price will be   
a. No change      b. 5% increase 
c. 4% decrease     d. 10% decrease 
xU Gj;jfj;jpd; tpiyahdJ Kjypy; 20% Fiwf;fg;gl;L gpd; 20% tpiy 
Vw;wg;gl;lhy; Kbtpy; mjd; tpiyapy; Vw;gLk; khw;wj;jpd; rjtPjk; 
a. xU khw;wKk; ,y;iy    b. 5% Vw;wk; 
c. 4%  FiwT     d. 10% FiwT 
 

91. Thalikku Thangam scheme is now under the department of, 
a. Adi Dravidar and Tribal Welfare 
b. Social Welfare and Women Empowerment 
c. Minorities Welfare 
d. Hindu Religious and Charitable Endowment 
e. Answer not known 
jhypf;F jq;fk; jpl;lk; jw;NghJ ve;j Jiwapd; fPo; nray;gLfpwJ? 
a. Mjp jpuhtplh; kw;Wk; goq;Fbapdh; eyj;Jiw 
b. r%f eyd; kw;Wk; kfsph; chpik Jiw 
c. rpWghd;ikapdh; eyj;Jiw 
d. ,e;J rkak; kw;Wk; mwepiyaj; Jiw 
e. tpil njhpatpy;iy 
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92. Consider the following statements with reference to constituent assembly. 
Which of the statement is correct? 
1. Mahatma Gandhi was not a member of Constituent Assembly 
2. Dr. Rajendra Prasad was elected as President of the constitutional 

assembly on Dec. 11, 1946 
3. Under the Cabinet Mission’s provisions, Constituent Assembly was 

established 
4. Constituent Assembly adopted only the National Flag not the National 

Anthem 
 a. 1 only  b. 1, 2 and 3 only  c. 2 and 4 only   
 d. 1, 2, 3, 4  

,e;jpa murpayikg;G eph;za rigapd; thf;fpaj;ij ftdpf;fTk;. fPNo 
Fwpg;gpl;Ls;s thf;fpaq;fspy; vJ/vit rhpahdit? 
1. kfhj;kh fhe;jp ,e;jpa murpaiykg;G eph;za rigapd; cWg;gpdh; my;y 
2. murpay; eph;za rigapd; jiytuhf lhf;lh; ,uhN[e;jpu gpurhj; brk;gh; 

11> 1946 Njh;e;njLf;fg;gl;lhh; 
3. murpay; eph;za rig> Nfgpdl; kp~d; jPh;khdj;jhy; cUthf;fg;gl;lJ 
4. Njrpa nfhbia kl;Lk; murpay; eph;za rig Vw;Wf; nfhz;lJ. Njrpa 

fPjj;ij Vw;Wf; nfhs;stpy;iy 
a. 1. kl;Lk;   b. 1> 2 &;; 3 kl;Lk;  c. 2 &; 4 kl;Lk;    
d. 1> 2> 3 &; 4 kl;Lk; 
 

93. India’s first PM mega Integrated textiles regions and apparel park is to be 
established in  
a. Erode    b. Madurai    c. Tirupur 
d. Virudhunagar e. Answer not known 
,e;jpahtpd; Kjy; gpujkhpd; nkfh xUq;fpize;j [Tsp kz;lyk; kw;Wk; 
Milfs; G+q;fh njhlq;fg;gl cs;s ,lk;> 
a. <NuhL   b. kJiu    c. jpUg;G+h; 
d. tpUJefh;  e. tpil njhpatpy;iy 
 

94. How many members signed the Indian Constitution?  
a. 274   b. 284   c. 294           d. 264 
,e;jpa murpayikg;gpy; vj;jid cWg;gpdh;fs; ifnaOj;jpl;lhh;fs;?  
a. 274   b. 284   c. 294           d. 264 
 

95. The constitution of India came into force on 
a. 26th January 1950    b. 15th August 1947 
c. 26th January 1947    d. 15th August 1945 
,e;jpa murpayikg;G eilKiwf;F te;j Mz;L 
a. 26 [dthp 1950    b. 15 Mf];l; 1947 
c. 26 [dthp 1947    d. 15 Mf];l; 1945 
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96. Who headed provincial constitution committee of constituent assembly? 
A. J.B. Kirpalani   B. H.C. Mukherjee 
C. A.V. Thakkar   D. Sardar Vallabai Patel 
murpayikg;G eph;za rigapd; gpuhe;jpa murpayikg;G fkpl;bapd; 
jiytuhf ,Ue;jth; ahh;?  
A. J.B. fph;ghydp   B. H.C. Kfh;[p 
C. A.V. jf;fh;   D. rh;jhh; ty;ygha; gl;Nly;  
 

97. The three British Cabinet Members of the Cabinet Mission 1946. 
a. Pathick Lawrence, Sir Stafford Cripps, AV Alexander 
b. A. V Alexander, Sir Stafford Cripps, Mountbatten 
c. Mountbatten, Pathick Lawrence, AV Alexander 
d. Sir Stafford Cripps, Pathick Lawrence, Mountbatten 
fhgpndl; J}Jf; FO 1946-y; ,lk;ngw;w gphpl;b~; mikr;ruitiar; Nrh;e;j 
%d;W Ngh; 
a.ngjpf;yhud;];> rh; ];lhNghh;L fphpg;];> V.tp.mnyf;rhe;jh; 
b.V.tp.mnyf;rhe;jh;;> rh; ];lhNghh;L fphpg;];> kTz;l; Ngl;ld; 
c. kTz;l; Ngl;ld;> ngjpf;yhud;];> V.tp.mnyf;rhe;jh;  
d. rh; ];lhNghh;L fphpg;];> ngjpf;yhud;];> kTz;l; Ngl;ld; 
 

98. Match List I with List II  
List I       List II 
Salient features     Borrowed the constitution  
Of the constitution  
a. Rule of Law    1. Irish Republic  
b. Judicial Review   2. Government of India Act 1935 
c. Article 356   3. USA 
d. Directive principles of  

State policy    4. UK  
gl;bay; xd;Wld; ,uz;il nghUj;jp rhpahd tpilia njhpT nra;f.  
gl;bay; I      gl;bay; II  
murpayikg;gpd;    ngwg;gl;l murpayikg;G 
rpwg;gk;rq;fs;         
a. rl;lj;jpd; Ml;rp    1. mah;yhe;J FbauR     
b. ePjpg;Gduha;T    2.1935-k; Mz;ila ,e;jpa murhq;f rl;lk; 
c. 356-tJ tpjp    3. mnkhpf;fh     
d. murpd; topfhl;Lk; newpKiw 4. ,q;fpyhe;J  
 a b c d 
A. 1 2 3 4 
B. 4 3 2 1  
C. 3 1 4 2  
D. 2 4 1 3  
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99. Who among the following was the Cabinet Minister without portfolio? 
A. C. Rajagopalachari    B. T.T. Krishnamachari 
C. N. Gopalaswami Ayyangar  D. G.L. Nanda 
fPo;tUgth;fSs; ahh; ,yhfh ,y;yhj kj;jpa mikr;ruhfpath;?  
A. C. uh[Nfhghyhr;rhhp    B. T.T. fpU~;zkhr;rhhp 
C. N. Nfhghyrhkp Iaq;fhh;  D. G.K. ee;jh  
 

100. The doctrine “Basic Features” of Indian constitution was propounded in 
the judgement of  
A. Krishna Swami V. Union of India, 1992 
B. Kesavananda Bharati V. Union of India, 1973 
C. S.R. Bommai V. Union of India, 1994 
D. Kuldip Nayar V. Union of India, 2006 
,e;jpa murpayikg;Gr; rhrdj;jpd; “mbg;gilf; $Wfs;” vDk; Nfhl;ghL 
ve;j tof;fpd; jPh;g;gpy; cUthf;fg;gl;lJ?  
A. fpU~;zRthkp V. ,e;jpa xd;wpak;> 1992  
B. Nfrthde;j ghujp V. ,e;jpa xd;wpak;> 1973 
C. v];.Mh;. nghk;ik V. ,e;jpa xd;wpak;. 1994 
D. Fy;jPg; ehah; V. ,e;jpa xd;wpak;> 2006 
 

101. Who said, “The Constitution of India was framed by ransacking all other 
Constitutions”? 
A. Pandit Jawaharlal Nehru B. Periyar E.V. Ramasamy 
C. Dr. B.R. Ambedkar  D. Ivor Jennings 
“,e;jpa murikg;G rl;lkhdJ gpw murikg;G rl;lq;fspy; ,Ue;J 
#iwahb nra;ag;gl;lJ” vd $wpath; ahh;? 
A. gz;bj [t`h;yhy; NeU B. nghpahh; <.nt.uhkrhkp 
C. Dr. B.R. mk;Ngj;fh;   D. INthh; [d;dpq;]; 
 

102. The Division of power is important in which form of Government? 
a. Presidential form of Government  
b. Collegiate form of Government  
c. Federal form of Government  
d. Unitary form of Government  
mjpfhug; gq;fPL ve;j Kiw murhq;fj;jpd; Kf;fpa mk;rk;? 
a. jiyth; Kiw murhq;fk;  b. FO Kiw murhq;fk; 
c. $l;lhr;rp Kiw murhq;fk;  d. xw;iwahl;rp Kiw murhq;fk;  
 

103. The sequence in which the given terms are mentioned in the preamble to 
the constitution of India is: 
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A. Sovereign, Socialist, Secular, Democratic, Republic 
B. Socialist, Secular, Sovereign, Democratic, Republic 
C. Secular, Sovereign, Democratic, Socialist, Republic 
D. Sovereign, Democratic, Secular, Socialist, Republic 
murpayikg;gpy; Kfg;Giuapy; Fwpg;gplg;gl;Ls;s nfhs;ifapd; rhpahd 
thpir.  
A. ,iwahz;ik> rkjh;kk;> rkarhh;gw;w kf;fshl;rp> Fbahl;rp  
B. rkjh;kk;> rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> Fbahl;rp  
C. rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> rkjh;kk;> Fbahl;rp  
D. ,iwahz;ik> kf;fshl;rp> rkarhh;gw;w> rkjh;kk;> Fbahl;rp  
 

104. The 'Procedure established by Law' in Indian Constitution is a feature 
borrowed from the constitution of     
a. South Africa   b. Japan c. Ireland  d. Canada 
,e;jpa murpayikg;gpd; ‘rl;lg;gbahd eltbf;if’ vd;w ,ay;G ngwg;gl;l 
murpayikg;G  
a. njd;dhg;gphpf;fh  b. [g;ghd;  c. mah;yhe;J d. fdlh  
 

105. Who said that preamble is the horoscope of our sovereign democratic 
republic? 
a. Sir Alladi Krishnasami Iyer  b. Dr.B.R.Ambhedkar 
c. K M Munshi     d. M.Hidayatullah  
‘Kfg;Giu vd;gJ ,iwikahd kf;fshl;rpf; FbauRd; rhjfkhFk;’ vd 
$wpath; ahh;?  
a. rh; my;yhb fpU~;zrhkp Iah; b. lhf;lh; gp.Mh;. mk;Ngj;fh;  
c. Nf.vk;. Kdp~p    d. vk;.`pjaJy;yh  
 

106. Consider the following statements about the preamble. 
1. Jawaharlal Nehru called it as the “Identity Card of the Constitution”.  
2. It reveals the source of authority of the Constitution 
3. It reveals the nature of Indian State. 
4. It reveals the objectives of the Indian Constitution 
Which of the given statements is / are wrong? 
a. 1 and 2   b. 1 only   c. 3 only 
d. None   e. Answer not known 
1. [t`h;yhy; NeU mth;fs; ,jid “murpay; rhrdj;jpd; milahs 
ml;il” vd;W $wpdhh;. 
2. ,J murpay; rhrdj;jpd; mjpfhuj;ij ntspg;gLj;JfpwJ 
3. ,e;jpa ehl;bd; jd;ikia ntspg;gLj;JfpwJ 
4. ,e;jpa murpay; rhrdj;jpd; nfhs;iffis ntspg;gLj;JfpwJ. 
NkNy fhzg;gLk; thf;fpaq;fspy; vJ/vit jtwhdit? 
a. 1 kw;Wk; 2   b. 1 kl;Lk;   c. 3 kl;Lk;  
d. vJTkpy;iy   e. tpil njhpatpy;iy 
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107. The theme of Raisina Dialogue 2023 is,  
a. Provocation, Uncertainty, Turbulence: Lighthouse in the Tempest 
b. Asia: Regional and global connectivity 
c. The New Normal: Multilateralism with Multipolarity  
d. Navigating the Alpha century 
e. Answer not known    
nua;rpdh Ngr;Rthh;j;ij 2023 ,d; ikaf; fUj;J>  
a. rpd%l;ly;> epr;rakpd;ik> fpsh;r;rp: Gaypy; fyq;fiu tpsf;fk; 
b. Mrpah: gpuhe;jpa kw;Wk; cyfshtpa ,izg;G  
c. Gjpa ,ay;Gepiy: gy;Kid nfhz;l gd;Kftzpfk; 
d. My;/gh E}w;whz;ilf; fle;J nry;Yjy; 
e. tpil njhpatpy;iy 
 

108. Which Amendment Act is known as mini constitution of India? 
a. 41st Amendment Act  b. 42nd Amendment Act   
c. 43rd Amendment Act  
d. 44th Amendment Act  e. Answer not known 
ve;j rl;lj;jpUj;jr; rl;lk; ,e;jpa FW murpayikg;G vd 
miof;fg;gLfpwJ? 
a. 41tJ rl;lj;jpUj;jr; rl;lk;  b. 42tJ rl;lj;jpUj;jr; rl;lk; 
c. 43tJ rl;lj;jpUj;jr; rl;lk;  d. 44tJ rl;lj;jpUj;jr; rl;lk; 
e. tpil njhpatpy;iy 
 

109. World’s longest railway platform has been inaugurated in,  
a. Hubballi   b. Kochi    c. Pune 
d. Gandhi Nagar  e. Answer not known 
cyfpd; kpf ePskhd ,uapy;Nt eilNkil jpwe;J itf;fg;gl;Ls;s ,lk;  

 a. `{gs;sp   b. nfhr;rp    c. G+Nd 
 d. fhe;jp efh;   e. tpil njhpatpy;iy 
 

110. VAIBHAV Fellowship scheme to promote research collaborations has 
been launched on 
a. International women’s day b. Global recycling day 
c. National science day  d. World Poetry Day 
e. Answer not known 
Muha;r;rp xj;Jiog;ig Cf;Ftpf;f ________ md;W itgt; cjtpj;njhif 
jpl;lk; njhlq;fg;gl;Ls;sJ. 

 a. rh;tNjr kfsph; jpdk;  b. cyfshtpa kWRow;rp jpdk; 
c. Njrpa mwptpay; jpdk;  d. cyf ftpij jpdk; 
e. tpil njhpatpy;iy 
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111. In planning, the slogan of “Garibi Hatao” refers to  
a. Removel of poverty    b. Economic growth  
c. Inequalities of Income and Wealth  d. Self attainment  
jpl;lkpLjypy; “fhpgp N`l;lht;” vd;w Kof;f thrfk; Fwpg;gpLtJ  
a. tWikia mfw;Wjy;   b. nghUshjhu tsh;r;rp  
c. tUkhd nry;t NtWghL  d. jd;epiwT ngWjy;  
 

112. Food for work programme was introduced during the_______ plan. 
a. Fourth Five Year        b. Fifth Five Year 
c. Sixth Five Year      d. Seventh Five Year 
czTf;F Ntiy toq;Fk; jpl;lk; ve;j Ie;jhz;L jpl;lj;jpy; 
mwpKfg;gLj;jg;gl;lJ. 
a. ehd;fhk; Ie;jhz;L jpl;lk;  b. Ie;jhk; Ie;jhz;L jpl;lk; 
c. Mwhk; Ie;jhz;L jpl;lk;   d. Vohk; Ie;jhz;L jpl;lk; 
 

113. Planning Commission was dissolved in 
a. June, 2014     b. August, 2014 
c. July, 2014     d. January, 2015 
jpl;lf; FO fiyf;fg;gl;lJ  
a. [{iy> 2014    b. Mf];l;> 2014  
c. [{iy 2014    d. [dthp> 2015 
 

114. Identify the mismatch.  
a. Nethaji     - National Plan  
b. Tata     - Bombay Plan  
c. Shriman Narayan   - Gandhian Plan  
d. M.N. Roy   - People’s Plan  
jtwhd nghUj;jj;ijf; fz;Lgpbf;fTk; 
a. Nejh[p    - Njrpa jpl;lk;  
b. lhl;lh     - gk;gha; jpl;lk;  
c. =kd; ehuhaz;  - fhe;jpa jpl;lk;  
d. vk;.vd;. uha;   - kf;fs; jpl;lk;  
 

115. Which of the following statement is/are correct about the NITI Ayog? 
I. All Chief Ministers of states except Union Territories with legislature 

are part of Governing Council. 
II. The Prime Minister of India is the Chairperson of the NITI Ayog. 
III. Finance Minister of India acts as Vice Chairman. 
a. only II and III   b. only II    c. only I 
d. only I and II   e. Answer not known 
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fPo;tUk; $w;Wfspy; ‘epjp mNahf;’ gw;wpa ve;jf; $w;W rhpahdJ?  
I. rl;lkd;wk; nfhz;l A+dpad; gpuNjrq;fs; jtpu midj;J khepy 

Kjy;th;fSk;> MSk; FOtpy; mq;fk; tfpf;fpd;wdh;.  
II. ,e;jpag; gpujkh; ‘epjp mNahf;fpd;’ jiyth; Mthh;  
III. ,e;jpa epjpaikr;rh; Jiz jiytuhf nray;gLfpwhh;.  
a. II kw;Wk; III kl;Lk;  b. II kl;Lk;    c. I kl;Lk;   
d. I kw;Wk; II kl;Lk;   e. tpil njhpatpy;iy 
 

116. In the following series replace the question mark (?) with the suitable 
option. 
101, 100, ?, 87, 71, 46 
a. 88  b. 89  c. 92  d. 96  e. Answer not known 
gpd;tUk; njhlhpy; Nfs;tpf;Fwpia (?) rhpahd gjpyhy; epug;Gf 101, 100, ?, 
87, 71, 46 
a. 88  b. 89  c. 92  d. 96  e. tpil njhpatpy;iy 

 

117. 
3 4 7

a b c
= = then a b c

c

+ + is equal to 

a. 7  b. 2  c. 1

2
  d. 1

7
   

3 4 7

a b c
= = vdpy; a b c

c

+ +  

a. 7  b. 2  c. 1

2
  d. 1

7
   

 
118. Sohan’s expenditure and savings are in the ratio 3 : 2 His income increase 

by 12% and savings by 15%. By what per cent would his expenditure 
increase? 
a. 3%   b. 5%   c. 8%   d. 10% 
Nrhfdpd; nrytpdk; kw;Wk; Nrkpg;G Mfpait 3:2 vd;w tPjj;jpy; cs;sd.  
mtUila tUkhdk; 12 rjtPjKk;> Nrkpg;G 15 rjtPjKk; mjpfhpj;jJ.  
mtUila nrytpdk; vj;jid rjtPjk; mjpfhpj;jpUf;Fk;? 
a. 3%   b. 5%   c. 8%   d. 10% 

 
119. A dozen bananas cost Rs.20. Then the number of bananas that can be 

bought for Rs. 100 is 
a. 5 b. 12  c. 20  d. 60  e. Answer not known 
xU l[d; thiog;goj;jpd; tpiy &.20 vdpy; &.100f;F thq;fg;gLk; 
thiog;goq;fspd; vz;zpf;if 
a. 5 b. 12  c. 20  d. 60  e. tpil njhpatpy;iy 

 
120. Which of the following is divisible by 9? 

a. 75636  b. 89321  c. 75637  d. 75632 
fPNo nfhLf;fg;gl;Ls;s vz;fspy; 9My; tFgLk; vz; ahJ? 
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a. 75636  b. 89321  c. 75637  d. 75632 
 

121. Which of the following is not matched correctly about NITI Aayog? 
a. NITI Aayog Head Office: Delhi   
b. NITI Aayog Chairman: Prime Minister 
c. Parent Agency: Government of India    
d.  NITI Aayog Replaced: National Development Council 
e. Answer not known 
NITI MNahf;fpy; gpd;tUtdtw;wpy; vJ rupahfg; nghUe;jtpy;iy? 
a. NITI MNahf; jiyik mYtyfk; : nly;yp 
b. NITI Mahf;fpd; jiytu;: gpujkh; 
c. NITI Mahf;fpd; jha; epWtdk; : ,e;jpa muR 
d. NITI Mahf; khw;wpaJ : Njrpa tsu;r;rp fTd;rpy; 
e. tpil njupatpy;iy 
 

122. Match List-I with List-II and select the answer using the codes given 
below: 
List I     List II 
A. First five year plan  1. Industrialization 
B. Second five year plan 2. Self-sufficiency 
C. Fifth five year plan 3. Agriculture 
D. Sixth five year plan 4. Removal of poverty 
gl;bay; I kw;Wk; gl;bay; III nghUj;jp fPNo nfhLf;fg;gl;bUf;Fk; 
FwpaPLfis gad;gLj;jp rhpahd tpilia Njh;e;njLf;f. 
gl;bay; I      gl;bay; II 
A. Kjy; Ie;jhz;L jpl;lk;   1. njhopy;kakhjy; 
B. ,uz;lhtJ Ie;jhz;L jpl;lk;  2. jd;dpiwT 
C. Ie;jhtJ Ie;jhz;L jpl;lk;  3. Ntshz;ik 
D. MwhtJ IE;jhz;L jpl;lk;  4. tWik xopg;G 

A B C D 
a. 1 3 2 4 
b.  4 3 2 1 
c. 3 1 4 2 
d. 4 2 1 3 
 

123. Identify the correct statements. 
1. India Bangladesh Friendship pipeline has been inaugurated to supply 1 

million tonnes of diesel  per annum from Assam 
2. It is the first cross border energy pipeline between India and 

Bangladesh 
a. 1 only    b. 2 only   c. Both 1 and 2 
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d. Neither 1 nor 2  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf: 
1. m];]hkpypUe;J xU Mz;Lf;F 1 kpy;ypad; ld;fs; Bry; tpepNahfk; 

nra;a ,e;jpah – tq;fNjrk;  el;Gf; Foha; njhlq;fp 
itf;fg;gl;Ls;sJ. 

2. ,JNt ,e;jpah tq;fNjrj;jpw;F ,ilNaahd Kjy; vy;iy fle;j 
vhpnghUs; Foha; MFk;. 

 a. 1 kl;Lk;    b. 2 kl;Lk;   
c. 1 kw;Wk; 2 ,uz;Lk; d. 1 kw;Wk; 2 ,uz;Lky;y  
e. tpil njhpatpy;iy 
 

124. India's research stations 'Dakshin Gangotri and Maitri' are located in  
a. Arctic region     b. Antartica 
c. International Space Station  d.  Himalaya 
,e;jpa ‘jl;rpz; fq;Nfhj;hp kw;Wk; ikj;Nuap’ vDk; Ma;Tf; FbapUg;Gfis 
epWtpAs;s gFjp  
a. Mh;bf; gFjp     b. mz;lhh;bfh 
c. rh;tNjr tpz;ntsp epiyak;  d. ,kakiy 
 

125. Highest peak in South Indian Peninsula 
a. Palaghat pass  b.The Anaimudi  c. Doddabetta d. Karle 
njd;dpe;jpa jPgfw;gj;jpd; kpf cah;e;j kiyr; rpfuk;  
a. ghyf;fhl;L fdtha  b. MidKb c. njhl;l ngl;lh  d. fhh;Ny 
 

126. The highest peak of the Aravalli Range is 
a. Kalsubai b. Mahendra Giri c. Gurushikhar d. Nanga Parbat 
Muty;yp kiyj;njhlhpy; cs;s caukhd rpfuk; 
a. fhy;Rgha;  b. kN`e;jpu fphp   c. FUrpfhh;   d. eq;f gh;tj;  
 

127. Which is the largest mangrove forest in India? 
a. Sundarban    b. Pitchavaram 
c. Muthupet    d. Gulf of manner 
,e;jpahtpd; kpfg;nghpa miyahj;jpf; fhLfs; vJ? 
a. Re;jutdf; fhLfs;    b. gpr;rhtuk; fhLfs; 
c.Kj;Jg;Ngl;il fhLfs;    d. kd;dh; tisFil 
 

128. Which one of the following mountain system is oldest? 
a. Siwalik Range   b. Aravalli Range 
c. Western Ghats   d. Vindhya Range 
gpd;tUtdtw;Ws; vJ kpfg; goikahd kiyj;njhlh;?  
a. rpthypf; kiyj;njhlh;  b. Muty;yp kiyj;njhlh; 
c. Nkw;F njhlh;r;rp kiyfs;  d. tpe;jpa kiyfs;  

129. India has an area of how many sq. km. 
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a. 32, 87, 263 sq. km   b. 16, 87, 263 sq. km 
c. 35, 75, 863 sq. km   d. 30, 26, 863 sq. km 
,e;jpa ehl;bd; epyg;gFjp vj;jid rJu fpNyhkPl;lh; MFk; 
a. 32, 87, 263 sq. km   b. 16, 87, 263 sq. km 
c. 35, 75, 863 sq. km   d. 30, 26, 863 sq. km 
 

130. India’s central meridian passes through 
A. Ahmedabad  B. Mirzapur C. Jhansi  D. Chennai 
,e;jpahtpd; kj;jpa jPh;f;f Nuif _________ topahf nry;YfpwJ 
A. mfkjhghj;  B. kph;rhg+h;  C. [hd;rp  D. nrd;id 
 

131. The relief of Doklam, which is a trijunction of India, China and Bhutan is a 
a. Mountain range  b. Plateau    c. Plain  
d. Hill    e. Answer not known 
,e;jpa> rPdh kw;Wk; G+l;lhdpd; Kr;re;jpg;ghd> ‘Nlhf;yhk;’ - ,d; 
epyj;Njhw;wk; 
a. kiyj; njhlh;   b. gPlG+kp   c. rkntsp 
c. Fd;W    e. tpil njhpatpy;iy 
 

132. Where is Arasur mountain located? 
a. Easter Kerala  b. Eastern Gujarat c. Western Andhra Pradesh 
d. Western Tamil Nadu  e. Answer not known 
mu#h; kiy mike;Js;s gpuNjrkhdJ 
a. fpof;F Nfush  b. fpof;F F[uhj; c. Nkw;F Me;jpug;gpuNjrk; 
d. Nkw;F jkpo;ehL  e. tpil njhpatpy;iy 
 
 

133. Asthamudi is an important lagoon of the _____ coast. 
a. Malabar coast   b. Konkan coast    
c. Cholamandel coast 
d. Northern circar coast  d. Answer not known 
m];jhKb vd;w Kf;fpa fhay; _________ flw;fiuapy; fhzg;gLfpwJ 
a. kyghh; flw;fiu   b. nfhq;fhz; flw;fiu   
c. Nrhlkz;ly flw;fiu  d. tlrh;fhh; flw;fiu   
e. tpil njhpatpy;iy 
 

134. Assertion (A): Himalayas are called young fold mountains. 
Reason (R): It was formed only few million years ago by the folding of the 
earth crust due to tectonic activity. 
a. A is true R is false  b. A is false R is true c. Both A and R are true 
d. Both A and R are false e. Answer not known 
$w;W (A):  ,kakiy xU ,sk; kbg;G kiyahFk; 
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fhuzk; (R): ,kakiy rpy kpy;ypad; Mz;LfSf;F Kd;dh;jhd; 
GtpNkNyhl;L Ngupaf;f tpirfs; fhuzkhf cUthfpaJ.  
a. A rup> R jtW  b. A jtW> R rup c. A> R Mfpa ,uz;Lk; rup 
d. A> R Mfpa ,uz;Lk; jtW  e. tpil njupatpy;iy 
 

135. Which of the following statements are correct? 
i. Rajasthan sandy plains is located to the west of Aravalli range 
ii. Punjab-Haryana plains lies to the north-east of the great Indian desert. 
iii. Ganga plains extends from the Yamuna River in the west to Mizoram 

in the east. 
iv. Brahamaputra plains is located mainly in the state of Meghalaya 
a. i, iii and iv only  b. i, and ii only  c. ii and iii only 
d. ii and iv only   e. Answer not known 
fPo;f;fz;ltw;Ws; vit rhpahd thf;fpaq;fs;? 
i. ,uh[];jhd; kzy; rkntsp Muty;yp kiyj;njhlUf;F Nkw;fpy; 

mike;Js;sJ. 
ii. gQ;rhg;-`hpahdh rkntspfs; ,e;jpa ghiytdj;jpd; tlfpof;Nf 

mike;Js;sd. 
iii. fq;ifr; rkntsp Nkw;fpy; aKid Mw;wpypUe;J fpof;fpy; kpNrhuk; 

tiu gutpAs;sJ. 
iv. gpuk;kGj;jpuh rkntspapd; ngUk;gFjp Nkfhyahtpy; mike;Js;sJ. 
a. (i)> (iii) kw;Wk; (iv) b. (i) kw;Wk; (ii) kl;Lk;  
c. (ii) kw;Wk; (iii) kl;Lk; d. (ii) kw;Wk; (iv) kl;Lk;  
e. tpil njhpatpy;iy 
 

136. According to Valluvar who is considered as lifeless? 
a. Who lives to helps himself  
b. One who does not live to help others 
c. One who lives to help others 
d. None of these 
e. Answer not known 
ahiu nrj;jth;fspy; xUtuhf fUjg;ngWthd; vd jpUts;Sth; 
Fwpg;gpLfpwhh;.  
a. jdf;F cjtpahf tho;fpd;wtd;  
b. gpwh;f;F cjtpahf thohjtd;  
c. gpwh;f;F cjtpahf tho;fpd;wtd;  
d. ,it VJkpy;iy  

 

137. _____________ grieve those who despise them, instead of grieving 
themselves for their own inability. 
a. base     b. folly     c. beggars 
d. cannot live with praise e. Answer not known 
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jk;ik jhk; nehe;J nfhs;shky; jk;ik ,fo;fpd;wtiu nehe;Jf; 
nfhs;gth; ahh;? 
a. fath;     b. Ngijah;     c. ,uNthh;  
d. Gfo;gl thohjth;   e. tpil njhpatpy;iy 

 
138. Charity is one which is given to ____ 

a. Poor    b. Saint   c. Aged people   
d. Physically challenged e. Answer not known 
ahUf;F <tJ <if? 
a. twpath;fSf;F  b. JwtpfSf;F 
c. KjpNahh;fSf;F  d. khw;Wj;jpwdhspfSf;F 
e. tpil njhpatpy;iy 

 
139. As to impoverished men this present world is not; 

The 'graceless' in you world have neither part nor lot. 
In the above Kural That world, This world are 
a. Uvamaithogai  b. Aagu peyar   c. Vinaithogai  
d. Ummai Thogai  e. Answer not known 
mUspy;yhh;f;F mt;Tyfk; ,y;iy nghUspy;yhh;f;F 
,t;Tyfk; ,y;yhfp ahq;F 
,f;Fwl;ghtpy; mt;Tyfk;> ,t;Tyfk; vd;gJ 
a. ctikj;njhif  b. MFngah;   c. tpidj;njhif 
d. ck;ikj;njhif  d. tpil njhpatpy;iy 

 

140. _________ is better than the pouring forth of ghee etc., in a thousand 
sacrifices. 
a. Killing an animal and not eating its body 
b. Killing an animal and eating its body 
c. Eating the animal's body after it has lost its life without being bitten 
d. None of these 
e. Answer not known 
mtpg; nghUs;fisj; jPapy; nrhhpe;J Mapuk; Nfs;tpfs; nra;jiytpl 
ed;ikahdJ vJ? 
a. xU tpyq;fpd; capiug; Nghf;fp mJ epd;w Cid cz;zhik. 
b. xU tpyq;fpd; capiug; Nghf;fpagpd; mjd; Cid cz;Zjy;  
c. tpyq;fpid tijf;fhky; mjd; capiug; Nghf;fpagpd;G mjd; cliy 

cz;zy;  
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 

 

141. What does anger kill? 
a. cheerly face  b. happiness of heart  c. hostility 
d. a and b   e. answer not known  



 

34 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

rpdk; vtw;iwf; nfhy;fpd;wJ?  
a. Kfkyh;r;rpia  b. mfkfpo;r;rpia   c. gifia 
d. a kw;Wk; b   e. tpil njhpatpy;iy 

 
142. Just as gold is purified as heated in the fire, will those shine, who have 

endured the burning of ________ 
a. happy  b. excellence c. pain  d. perseverance  
neUg;gpd;fz;Nz ,l ,lj; jd;NdhL fye;j khrw;W xsptpLfpd;w 
nghd;idg; Nghy;> jtk; nra;fpd;wtiuj; ___________ tUj;j tUj;j 
nka;Azh;T kpFk;.  
a. ,d;gk;  b. Jg;GuT   c. Jd;gk;   d. jhshz;ik  

  
143. For whom there is no need for a shaver crown, non of tangled hain? 

a. For saints     
b. Those whose mind is defiled 
c. Those who not saking desire in their heart 
d. Those who shut what all the world condemns as wrong 
e. Answer not known 
kopj;jYk;> ePl;lYk; Ntz;lhk; - ahUf;F? 
a. JwNthh;f;F   b. kdj;jJ khR cilNahh;f;F 
c. neQ;rpd; Jwthh;f;F d. cyfk; gopj;jJ xopj;Njhh;f;F 
e. tpil njhpatpy;iy 

 
144. The fraudful forfeit life and being here below; 

Who fraud eschew the bliss of heavenly beings know. 
In the above Kural the term heavenly beings means _____ 
a. New world  b. heavenly world   c. This world 
d. None of these e. Answer not known 
fs;thh;f;Fj; js;Sk; caph;epiy fs;thh;f;Fj;  
js;shJ Gj;Nj SsF 
Nkw;fhZk; Fwspy; Gj;Nj SsF vd;gjd; nghUs; ahJ? 
a. GJ cyfk;  b. NkYyfk;    c. ,t;Tyfk;  
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 
145. poiyaamai anna pukazhillai eyyaamai 

ellaa aRamunh tharum 
 Here the term ‘eyyaamai’ means _____ 

a. Falsehood  b. Not doing evil  c. Without knowing 
d. Veracity  e. Answer now known 
ngha;ahik md;d Gfopy;iy va;ahik 
vy;yh mwKe; jUk; 
,f;Fwspy; ‘va;ahik’ vd;gjd; nghUs; ahJ? 
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a. ngha;   b. jtW nra;ahik  c. mwpahik 
d. tha;ik   e. tpil njhpatpy;iy 

 

146. If 
2 1 2 1

and ,
2 1 2 1

a b
+ −

= =
− +

then 2 2a b+  is equivalent to: 

A. 38   B. 39   C. 34   D. 32 

2 1 2 1
, ,

2 1 2 1
a b

+ −
= =

− +
vdpy; 2 2a b+  - d; kjpg;Gfhz;f 

A. 38   B. 39   C. 34   D. 32 
 

147. The population of a town is 176400. It increases at 5% per annum. What 
was its population two years ago? 
a. 160000  b. 194481  c. 194040  d. 170000 
xU efuj;jpd; kf;fs;njhif 176400. xt;nthU Mz;Lk; 5% mjpfhpf;fpwJ 
vdpy; ,uz;lhz;LfSf;F Kd;G me;efuj;jpd; kf;fs;njhif vt;tsT? 
a. 160000  b. 194481  c. 194040  d. 170000 

 
148. Find out the wrong number in the following series. 

8, 13, 21, 32, 47, 63, 83 
gpd;tUk; vz;thpirapy; jtwhd vz;iz fz;lwp: 
8, 13, 21, 32, 47, 63, 83 

 A. 47   B. 63   C. 32   D. 83 
 

149. A shopkeeper purchased 200 bulbs for Rs. 10 each. However 5 bulbs were 
fused and had to be thrown away. The remaining were sold at Rs. 12 each. 
Find the gain or loss% 
a. Loss 14.53%  b. Profit 15. 43%   c. Profit 17% 
d. Loss 18%  e. Answer not known 
xU filf;fhuh; xt;nthd;Wk; &.10 vd 200 gy;Gfis thq;fpdhh;. mtw;wpy; 
5 gy;Gfs; gOJ vd;W fz;lwpag;gl;L> J}f;fp vwpag;gl;lJ. kPjpia 
xt;nthd;Wk; &. 12f;F tpw;why;> mth; ngw;w yhg my;yJ e~;l 
rjtPjj;ijf; fhz;f 
a. e~;lk; 14.53% b. ,yhgk; 15.43% c. ,yhgk; 17% 
d. e~;lk; 18%  e. tpil njhpatpy;iy 
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150. A boy reads 3

8
 of a book on one day and 4

5
 of the remainder on another 

day. If there were 30 pages unread, how many pages did the book 
contain?  

xU rpWtd; xU Gj;jfj;jpy; 3

8  
gq;F gf;fq;fis Kjy; ehspYk; 

kPjKs;stw;wpy; 4

5
 gq;F gf;fq;fis kw;nwhU ehspYk; thrpj;J Kbf;fpwhh;. 

mth; ,d;Dk; thrpf;fhky; ,Uf;f $ba gf;fq;fspd; vz;zpf;if 30 vdpy;> 
Gj;jfj;jpYs;s nkhj;j gf;fq;fs; vt;tsT?  
a. 240  b. 300  c. 600  d. 660   

 


